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1 MR B =2 5550015% BORE BO3
2 PEAL P 255500298 EO#E BO6
3 AL 25 50035% BOM B14
4 M %= 55500158 BOH B10
5 kAP F 55500455 HO=F B13
6 MR %S 25500255 BHOH B12
7 PEAT M 2 5850059% BROIR BO5
8 A 55003%% #EOR BO2
9 PEAT A% 2 555004 9% BEIROM B17
10 P A5 50055% BOH BO1
11 AT 2 5550069% OB BO7
12 AP 255007 5% ®OR BO8
13 PEALP 25 50085% HOx B23
14 kAP = 25500955 HOR B15
15 MR % F 55500657 #HOAH BO4
16 A= E5007 %% Boia BO9
17 A E50085% 058 B24
18 AT 258501098 ®OIE B22
19 AP == 560015% OB B18
20 AP 2501158 =Yo}: B20
21 A= 60015% SEO B19
22 PEARP = 5012%% BOR B16
23 AR M 258501398 O B25
24 AT 2585501495 BOM B21
25 AT M 2 5560029% 1BO% B11l




